[ number of missing inner layers |

1e Entries 48489
E : Mean 0.0378
r . Std Dev 0.2032
1 U S fedediyg S
107 : Entries 48489
= . ean !
F : M 0.0378
L : Std Dev 0.2032
-2 . H H N
K S A SRl ALl S SR A M
10*32— ------------------ EREEE ERRE P
-4l RN SRS SOPOY S SO
107 :
10_52_ .................. P B R LN I I IR
0105(3""| M P T
= Foo : ]
= [ .
€ F i
£ s | """"""""""""

0.95

mean hi

00511522533544.55

[ number of missing outer layers |

107}

1072

1e Entries 48489
B + | Mean 1.146
| .Std Dev 1.798
: ; I
Jhan S : " TEntries 48489
F : Mean 1.146
L . Std Dev 1.798
10*3 I A e P [
.................. O S P,
A

15 20 25

=== DQM_TT_original_time
=== DQM_TT_modified_time

20
18
16
14
12F
10F

<hits> vs n

Ratio

-1 0 1 2 3

track n

- - Entries 14216
R [ Mean 2.194
lo . Std Dev 6.527

Entries 14216
Mean 2.194

1058 ‘

Ratio

0.95L

E e S Std Dev 6.527

L e emcceaaan AU 1 1§
........| AT TR |

J_- E EE SR

101

l

10 107 10°

10?

10

N
-

Entries 48489
Mean 11.98
. |Std Dev 6.805

H H |
+ [Entries 48489
: { Mean 11.98
"L Std Dev 6.805

5 10 15 20 25 30

35 40

track hits

10

10°°

108

Ratio

0.95L

- Entries 56983

: Mean 0.4306

. Std Dev 0.872

: Entries 56983

: Mean 0.4306

N Std Dev 0.872
------------------ PR 2
P R B | R A X

l'I%%%%%%H.H T

101

1

10

102

3
track p1 0



	Contents
	Page 1


